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Math 371 (Differential Equations), Section 3 Your name:

Quiz 4

October 1, 2009

1. Calculate (1 +14)%°

2. Solve the following linear differential equation

y' +2' +y=0 (1)
if it is known that y;(z) = e~ is one of its solutions. You can either find the second linearly

independent solution or solve this equation as a linear differential equation with constant
coefficients.

SbquFQOﬂ : :BA 34(7@ 6 s the SOIVCHO“\, we. |ook

for  Yl¥=u)e”
P)U\a \01&\ m‘%b C:LB :

(U™ 7 (upne” )+ ue =0

6™ 28" w9 €00 r L)€ 2un) e 0 €= O

U\“ (Y\ = D M’““*‘“‘egmw\ﬁ O since

\. W) =C v Y=€  is A soluton |

Thus ‘316‘)-)46 cund Wra[ go\wjnom \‘SM

5 O)bt—f\mh 2_ (nus zciuodim\ s liveou W\Hn covxsjrow\‘\‘ caef?f(c&evd‘j
Clevactenstic ?olawovw\o\\ s AL L =0 &2 (\Jr\) O > A=~
VIQ (’\0‘—&]& 128 d—O\Abe VOOT :-_".9 SO(M‘I—Z&V\ ‘S {:(): C/‘e ._{,CLXQ ’




